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At first

Recently the increase of the number of factories has made larger and
larger amount of carbon dioxide to spread all around the earth and it has
been a worldwide problem. Formerly trees had done photosynthesis and
changed large amount of carbon dioxide into oxygen. But humans have cut
down many trees, and as the result amount of oxygen produced by the tree
has dropped. This made us study the way of doing photosynthesis by human
work to change carbon dioxide into oxygen to adsorb carbon dioxide. We
learned that it was hard to do all the processes of photosynthesis by human
work for us. So we did an experiment of the first part of the photosynthesis
called Light Reaction.
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